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������ ����� � �
������ ����� ����  

 �������� � 	
� �
  

� (   ����� ���!� � �"����� #��
��� ��$�%
&
� ��'%* ����� 
����� +,
� � -���. -�*�� /�0� ��"����� �1  

2(   3�� 4�5 6� 4�5 7� 8"9�� :��;� 4��.�� ��<1��� =�'�"� -��,�> �
9	 �� ��"����� �"?
�� :��; @A BC�
$��D�� #'�1��� ���E ��F
C 4��.�  

 G(  $�,���� 7F -��
'F #<1�� ��"����� �"?
�� :��� ��  

�(     ���� ��?
1ITU-R S.614 � H��I� 4��.;�� ��<1� ��"����� �"?
�� :��; -�,��.� ��� ��� ��?
1ITU-T G.821$  

���: �;�DE:     )ه ���+�
��'%* ��J��1,� ���K�� � (HRDPs)� ����K�� ��J��1,� 
��?
1 (HPX) � �.�	�� L 
�� ��?
1ITU-T G.826$  

  �(  � /*��M�� 7� ���� N	��� +	�� ���%
1�� :�DE;� 
���O #> *�P1F�� � QE0� �� :�DE;� :���   R��S �'�T
$U%
�� � 
�E��1��� H+V1�� *�W1C��  

  ���� �
  

  �(   ���� ��?
1ITU-R S.1429 X #E��1�� 7F ���Y�� :�DE;� :��� 4��.�  �P�Y��� H�<1��� #��
��� *��� �'ZC� [�
 \*;� 6�(GSO) \*;� 6� �P�Y��� H�<1��� +] #��
��� *��� �'ZC�� (non-GSO) 
�+�� ��"����� �1����� ���!� � 

 7�̂0	 /Q�� ��;� @�P��� 7� _>� �� /���	 @�P�� #'�� ���K�� ��J��1,� ��'%*�'ZC;� 7F #<� 
����1� �"'�1��� 
GHz 15 ���Y�� �` =
'��� :�DE;� :��� ��� � ��� �a"1b�� ��"����� �'ZC;� [� 
�E��1�� 7F�� ��?
1ITU-R S.1323 X 

 ��"��T �9PS � B� =
'��� #E��1"� c
�<�� 
�	
���)\*;� 6� �P�Y��� H�<1��� #��
��� *���/ $��"����� �1����� ���!�
�� ���!� � \*;� 6� �P�Y��� H�<1��� +] #��
��� *��� �	QV1�� 
�?���"����� �"<Y1 ( e��� ��"����� �1����� ���!� �

 U� �"����� ��"����� �1����� ���b"� f�g�� H�h1� c�E� 
�9PS �iPP��GHz 30 #�VW1�� j��
. 2��k ��a�> ��� �
�:�
��� l"F #E��1��� [.
1��� m'�� n�o  

 �����  

1  ��� ���"P<1��� ��"����� 
�?
�� p'����q ��> �'��k-�Y9r s � �'t�<�� ��"����� 
�?
�� �1����� ���!� �
 � B��� *�W�� ����� :uv� � #��T #9� Hua% 
�a?�
� #%;� l"F �
1�� n�o ��"������� ��?
1ITU-T G.826 . x�<��

 �Zk���1 ��?
1�� 
�'"�� 7� ��"b1��� p�'�1�� ��Y%� 7� �F
'y -���� ITU-T G.826$  

2   ���7� zh"�� � �hJ
�� ��{iY�� |�'�1T� 79'�� 1 �D!� |�'1k�� �?�!�� ��}��� :��;� ��Y%� ���
� #K� 7� 
 
�1P�� �(BEP)) �ZC� �Zk��� 4 ( �Zk��� � H��I�1 . 7� |��~ �i�aC ��{iY�� |�'�1T� 79��Mbit/s 155 #K� 7� 

 �Zk��� � ��I� ��Y<�� ��b1T�2$  



 �������ITU-R S.1062-3  

  

2

3  �����?
1�� 7� -�:uK ����1�� 
�Zk��� _1�� :  

 ��	
��1 X 7� 8VPY	  ��?
1�� 
�P"D1~ x�1�� ��<1�� #K�ITU-T G.826 
�1P�� � �D!� |��� �(BER) l"F -��
�<� 
 �<S��� � :�DE;� ��F �T
1�BER/α �) H�<a�� �ZC�3 zh"�� 7� 1 ( G�!� �YF)[.�g�� #�?
� 7� 4�5 /� �YF /� (

 #����� � 8�K�� 8J��1,� 8'%* +��(HRDP) �8"9�� U%
�� :�Y&� }��{1	 ��� l"F +�� �� #�?
� 7� -����� -�:uK #9W	 
 s�q � �~)�iS �
T� ( |��v� � H�*�
�� p�<��� H��I� p�'�1�� ��Y%�1 ��Y%�� s�Q>� |�'1k� 
�1P�� � �D!� (BEP) 

 #9W�� � H�*�
��4.  

��	
�� 2  X  p]��� l"F �
���!� ��� #K� 7� B���b1T� /*��M�� 7� _1�	 �� �����? ��>� ��Y% x��b1T� 7�h1�	
 �Zk��� �� 7�1 7'M� �� x�1�� ��<1�� ��?
1�ITU-T G.826.  

 |��v�1  

�
���� ����  
(Mbit/s) 

����� ����� �� ������ ������  
)��� !�"!(  BEP/α 

0,064  0,2 

10,0  
4–

10 × 1,0  
8–

10 × 1,0  

1,5 

0,2 

2,0 

10,0  

7–
10 × 7  

8–
10 × 3

  

9–
10 × 5

  

2,0 

0,2 

2,0 

10,0 

6–
10 × 7  

8–
10 × 2

  

9–
10 × 2

 

6,0 

0,2 

2,0 

10,0 

7–
10 × 8  

8–
10 × 1

  

9–
10 × 1

 

51,0  
0,2 

2,0 

10,0 

7–
10 × 4  

9–
10 × 2

  

10–
10 × 2

 

155 

0,2 

2,0 

10,0 

7–
10 × 1  

9–
10 × 1

  

10–
10 × 1

 

  

������ fQ. �  |��'"� 8VPY	BEP G�!� �YF )[.�g�� #�?
� 7� 4�5 /� �YF /� ( +��HRDP ��;� |����� #VW	 8"��T 
 |��� s�q � �~ l"F� |��~ ��Mbit/s 155 8"9�� U%
�� :�Y&� }��{1	 �� )�iS �
T� ( � H�*�
�� p�<��� ��I� p�'�1�� ��Y%

|��v� 2:  

 |��v�2 

� �� ������ ����������� ����  
)��� !�"!( BEP/α   #$! ��α = 10  

(BEP) 

0,2 

2 

10 

7–
10 × 1  

9–
10 × 1

  

10–
10 × 1  

6–
10 × 1  

8–
10 × 1

  

9–
10 × 1  

 ��	
��3  X +��� 
�a?�
� ��� HRDP ��?
1�� � ���?
1�� fQ. � B��� *�W�� ITU-R S.521.  
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 ��	
��4 X �� 8VPY	 *�<� 
���� BER�� � H��I�  [1Zk�1� 2 �	�<� +,
1� 8a9	 �~ �"	
5 U%
�� 7� H�1, l"F 
 |�'1k�� ��KBEP . zh"�� x�<	�1 ��?
1��� ITU-R S.614 |���� ���<� �<	�5 BERsU%
�� 7� �	
��� �P�Y�� ����� .  

��	
�� 5 X z�PD� #�i�1�� � �i��� *�W�� 4��.�� �"��<�� p�<�� 7F _�	 ���?
1�� fQ.  [1Zk��1� 2 �8"9�� U%
��� 

�1P�� � �D!� |��� :��; Gq
� ���k p�<�� fQ. #��� BEP zh"�� � �i��� *�W�� �<	�D�� x�b1�	 1 . 7� U�Y�1T� �%�

 [1Zk��� � H*
>Q�� 4��.;� 6� |
?
"� s�q� ���1�� x�F U%� :�Y&� ��� e�� :�DE;� 4��.;� fQ. p�%1� 2. 
x�<�� �Zk��� 78"9�� U%
��� ���1�� U%� [� �%��"� -�+�a�  . 
������ �?�!� 4��.;� _1�� ��BEPs � H��I� 

 �Zk���1 e�� H��k
�� 8.  
�P"D1� �
1�� ��?
1��ITU-T G.826 . 
�F
'� ��K��� �YF �#'�1�	 �� p'�'"� 79'�,
 ���5 4��.;� 7� c�E�UC�> 
�F
'y� fQ. � 
�P"D1� �
1�� ��?
1�ITU-T G.826.  

 ��	
��6  X��;� z�PD1�� �
9	  ��"����� �'ZC;� � ��?
1�� fQ� �"����� U� GHz 15 . #9W	� 
�P"D1� 3�T
� :��;�
�<k� �T�*� 3J
� l"F� 
����� �YF #'�� �'ZC� l"F ��?
1�� fQ. � �i��� *�W��.  

��	
�� 7  X U%� 7� H�1, ��P�  ���1�� x�F��� H�	�S ��
��� 7� ����11� ���k� :�M<C� �D!� (SES) �.��F �"P	 e�� 
���
& �WF .���1�� x�F U%� 7� -�:uK �W��� ��
��� fQ. _1��� . ���1�� U%� 7� H�	�K H�1, ��P�����:�M<C� 7� H�1,  10 

 ��
&����11�� :�DE;� 7� -�+P> -���F 7'M1� � .� fQ. _1������1�� U%� 7� -�:uK �W��� ��
�� . 
�P1F p�% �	�� 79��
 |�'1k��� z"�1	 �'�, ���1�� x�FBEP /���� |�'1k� �P�Y� ���1�� x�F ���k z�<� p1	 n�k 0,5 � mJ
� 
. �'> �

 #9W��3.  

��	
�� 8 X [1Zk��� � �i��� *�W�� 4��.;� 7F _�	 1� 2 �iW�� 7� �	
��� �P�Y��� �
T;� . �	
��� @�Y�� fQ. #��<��
����1�� �	
Y��� �	
��� @�Y�� �	�iW��:  

X  %10 �
T;� �iW�� 7�   %4,0�Y��� 7� $  
X  %2 �
T;� �iW�� 7�   %0,6�Y��� 7� $  
X  %0,2�
T;� �iW�� 7�   %0,04�Y��� 7� .  

��	
�� 9 X #K� 7� �� ��<1�� [1Zk��1� 2 7� _>� 
����� �YF GHz 10� 
�:��K� |�'�1T� ��a�� 7� �
9	 �% 
 
Pb"� H��M�#'W� 8���;� �D!� m�h�� 3� 8a��91�� +aW1�� (FEC)3%�
�� 4�1E� �� H*�<�� � p9h1���  . x�<	�

zh"�� 1 ��?
1��� ITU-R S.5223%�
�� 4�1E�� #�VW1�� |
k 
��
"�� .  

��	
�� 10  X�� 7� z<h1"� �"Ma�� �<	�D�� u9���  ��'%��� 
�?
�� :����!� � 
�T��<�� l"F ��"����� . #'�1�� �%�
 �P��� e�� 
�*�a�� � :�DE;� NW> 
�DD� 
�T��<�� fQ.�<�H*�a��  ��}��� |�T*�� x�ZC ��YP�� . m�h�1�� �&0	�

 8���;��Db"� FEC � 8"J�a1�� +aW1��� ��"b1��� +�a� 
�T��<�� )�ZC� H�<a�� 3�� 7�  zh"1.(  

��	
�� 11 X 3J� [1Zk��� � mJ
�� :�DE;� :��� 1� 2l"F ��T�  +�� |�'�1T� HRDP 7� ����� :uv� � 
 �"?
��)/� ���
� 6� |�P�� ����� �!� ���
�|�P�� ����� �!� ��*  .(
�<�PD� ����Y9r  +�'"� c�E� HRDP #E�� 

 #�?
1��)-��� �@19� 6� @19� 7�(s�Q� -�<,� :�DE;� :��� 4��.� �PJ 79�� .  

��	
�� 12  X  79��?�!� 
�9PW�� � ��"����� 
�?
�� p�'�� l"F ��?
1�� fQ. � �hJ
�� zt��D�� z�PD� . p1	�
 ���!� c
1�� l"F ��a�� z	�5 7F �9PW�� #'�1��� �9PW�� #VW� [� :��;� 4��.� l"F H��F ��a���(SLA) 
. �'> 

� � ���� ��?
1ITU-T E.800.  

 ��	
��13 X  |�T*�� ���� pF� |��� 7� l"F� |��� /; H*��M��� ���� 2
"D�� |�T*�� |��� :��;� 4��.� �
"� 8VPY	
�D!� m�h�� �� . �"P	 ��"��T �"?� l"F |�T*�� |��� ��> �q� �|���� #�PT l"F�Mbit/s 6 B�"F �%��1�� |�T*�� |���� 

I� �"P	 ���!� c
1�� l"F ��a��� � ��Mbit/s 2 |��~ |�T*�� :��;� 4��.� z�PD� 8VPY	 �Mbit/s 2.  
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 #$%��1  

1  ���� �����	�� 
���
� ������ ������� ������ ��� ����	ITU-T G.826 

 
�P"D1� ����� ��?
1ITU-T G.826P�� � �	��a�� :�DE;� n�k 7� � �D!� 
�*�a�� n�k 7� 
�1.  

 ��?
1�� :��� 
�P"D1~ x�u1��� 7� z<h1��� =�'��� 
. ��?�!� fQ. 7� \�V���ITU-T G.826���!� :�Y&�  . :��;� ��?�!�
 � :�DE;� �i�, ��� e�� �'ZC�� �P�Y��� ���. @%�
F 
�1P�� � :�DE;� n�k 7� � 
�*�a�� � :�DE;� n�k 7�

��} #'�1�� e�� �'ZC;� #�� � :�DE�� 8���;� m�h�1��� ��"b1��(FEC) . ��?
1�� � �"'�1��� H*�a���ITU-T G.826 
 8.H��}#'�1��� |�T*�� x�ZY� [�}��� �P%���� #�* �� �P%���� H*�, H��F #9W� e�� �<?�1�� 
�1P�� 7� .  

 8DV��� ��?
1ITU-T G.826  X� �D!� �t��� �<"�1�� 4��.;�� 
�'"���  
��?
1�� #K� 7� 4�5 6� 4�5 7

�+������'%��� pZ1Y� 
�1� |��~ �5��� #'W1� �i��T
� 79�� #��a1��� #<Y�� �'ZC� 7� [D� -� 7� c�E� �'ZC;� �YF 
H*��M�� .�� ��D'Y�� ��Q.�:  

X  @���� 7��u1�� 2*�<1� 8'%* (PHD) 7� kbit/s 64$��� |��� 6�   
X  @���� 7��u1� 8'%* (SDH) 6� ��� |��� 7� Mbit/s 3 500.  

 x�F � ��F�a�� ����;� 
�F���� Ua�J�2002
�F���� fQ. l"F �'ZC;� 3J� #�i�1�  . *��<1T� l"F �Z,�h'"� BC� ��
 �'ZC� 7� �M	���� H�F�<�� fQ. #�VW�PHD ��?
1�� +�V� x�F l"F ��a��� L ITU-T G.821 ��"	
5 H�1, QY� �'t�<�� 

e����'ZC;� fQ. l"F zPD� .  

 m"D�� -�<,��SDH+�� +P�1� 4�5 6� 4�5 7� H*�� 6� *�W	 �.  

 m"D�� -�<,��PDH�"?� +P�1� 4�5 6� 4�5 7� H*�� 6� *�W	 �.  

 �D!� ��
��� �i�"F z"D	 
�'"�� n�k 7� #<Y�� x�ZC :��� ���(ESs) �D!� H�	�S ��
���� (SESs)7� #> �  @���1�� 
 7��u1�� 8'%��� @���1��� 7��u1�� 2*�<1� 8'%��� @h�	 �� l"FSDH :�DF� H*�a�� :�DE� �i�"F z"D	 ��,�J� �'"�� 

����� |�T*�� 
�F��� _>� �C�P1T� .H�k�� ��C�& 7� +�9� #%� 
�*�a�� fQ. H���.  

 H*�,�7��u1�� 8'%��� @���1�� N%
1	 e�� �.�%'� 8. �|�T*�� �F�T l"F  ����11� �F
� �% e�� 
�1P�� 7�  �
9�
*��{1�|���� #�PT l"F ��Y��� �	��k ���k 3� H*�a�� U9��W� �q� H.  

1.1   �� %�&��� '�*
�+�� �����ITU-T G.826  

1.1.1  ��,��� - ./0� 1�2.3 �4����� 5��	6�  

X   ���� ������(EB)  
��>� �� �DE �1� 7'M1� H*�,.  

X   ���� �������(ES)  
 ��>� �� �DE H*�, 7'M1� H�k�� ��C�& 7� H�1,(EBs).  

X   ���� ��!�" �������(SES)  
��C�& 7� H�1,H�k��  l"F #'1W� %30≤ #%;� l"F -��k�� �DE �� �D!� 
�*�a�� 7� ) �ZC��� ��?
1ITU-T G.826 

:�DE;� N	��� l"F ��5��.(  
   �D!� H�	�S ��
��� �� �Zk�� *�A�(SES)W�  �D!� ��
�"� ��F�, �F
'� #9(ES).  
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X   ���#�� ������ ��$(BBE)  
 H*�, �DE(EB) �D!� H�	�S ��C�& 7� :u{> ��� � (SES).  

2.1.1  �
������ - ./0� 1�2.3 �4����� 5��	6�  

X  ������� �� ��(ES)  
� � H*��E ���E NW19	 ��>� �� �DE �1� l"F #'1W� H�k�� ��C�& 7� H�1,H*�S� � �� H*�S����� *�QC�� .  

X   ���� ��!�" �������(SES)  
 f*�% 
�1P�� � �DE |��� 7'M1� H�k�� ��C�& 7� H�1,3–

10≤.  

2.1  �
&����  

���� ���k � �"�?
1�� �� +��� ��> �q� �� �D!� :��� p��<� x�F 8VPY	 . �Zk��� �ZC�7 N�� zh"��� �����?
1  
ITU-T G.826�� #E��� *���� N	��� l"F ��5/���1�� x�F ���k � G�!�.  

X   ���� %����� ��&�(ESR)  
���<"� ��� #?�, :�Y&� ���1�� U%� � ��"9�� ��
��� 6� �D!� ��
��� �P�C.  

X   ���� ��!�" %����� ��&�(SESR)  
�, :�Y&� ���1�� U%� � ��"9�� ��
��� 6� �D!� H�	�S ��
��� �P�C���<"� ��� #?.  

X   ���#�� ������ ��$ ��&�(BBER)  
 �D!� H*�a�� �P�C(EB) ��
��� :�Y&� �iZ� e�� 
�*�a�� 3�� :�Y�1T�� ���� ���% #?�, :�Y&� 
�*�a�� ���� 6� 

���1�� x�F U%�� �D!� H�	�S.  

3.1  ������� ��*�7  

 |��v� mJ
	3 �%
�*�a�� ��F� H*�a�� /Y��� ��C�����a"1b�� |�T*�� 
���� �P�.  

 |��v�3  
8 �
���� ���� 93 ��
�����*�:�� ����*�:�� 2�;8 /��=
>��  

�
���� ����  
(Mbit/s) 

��*�:�� ��  
(bits) 

��*�:�� 2�;/����=
>  

1,544 4 632 333 

2,048 2 048 1 000 

6,312 3 156 2 000 

44,736 4 760 9 398 

51,84 6 480 8 000 

155,52 19 440 8 000 

  
4.1  1�26� ?��@!  

 � H��I� 4�5 6� 4�5 7� :��;� 4��.� ����� ��?
1ITU-T G.826 |��v� � 4��:��� \��];  . 4��.� \����
|�T*�� x�ZC � 
�1P�� |��� ����� :��;� . c�� -�M	� \��	��% 
�*�a�� �<��D��fQ. 
�1P�� 
����  . B��� +S� �'>�

f�F� �
9	 ��%*�a�� 
�|�T*�� x�ZC � #���� ��YP� @k���� p{�� 
.  .���1�� U%� #K� 7� 4��.;� fQ. ����.  
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 |��v�4  

 ��$�� �A���7� �&�* ,�� ?�B CD ?�B �� 1�26� ?��@!(HRDP)  
 ��$�� �A���7� #����3 8!(HRX)  E���Km 27 500) *�F�� :�� �����ITU-T G.826(  

|����  
(Mbit/s) 

kbit/s 646�  
�� |��;���(1)

1,5 6� 5  5 < 6� 15 15 < 6� 55 55 < 6� 160160 < 6� 
3 500 


�1P�� ��F  
H*�a�� �  zPDY� �  5 000-800  8 000-2 000 20 000-4 000 20 000-6 000 -15 000 

(2)
30 000 

 ��
��� �P�C
�D!�  0,04 0,04 0,05 0,075 0,16 

(3) 

�
��� �P�C�  
�D!� H�	�S  0,002 0,002 0,002 0,002 0,002 0,002 

 �P�C�DE  
��a"!� H*�a��  zPDY� �  (4)4–

10 × 2  4–
10 × 2  4–

10 × 2  4–
10 × 2  4–

10  

(1)
  x�F #P% �''��� 
�u�i{1�� l"F 4��.;� fQ. z�PD� 2
"D�� 7� ���2003 . fQ� �P�Y��� :��;� 4��.� ����

 � 
�u�i{1���� ��?
1ITU-T G.821.  
(2)   +���VC-4-4c�̂�� 
. �'>  -����k 4) ��?
1��ITU-T G.707 ( |��~ +�� 
.Mbit/s 601 3� �% f*�% H*�a"� 

75 168  �1�H*�a�� � . ��> ����% 7� 
�+�� B� l?
�� c��� G*�E 3<	 H*�a�� 160 6� Mbit/s 3 500 ��, � :��;�
 
�+��� l"FVC-4-4c G*�E 3<	 |��v� �Q. ��DC . �P�Y�� 4�.�BBER +�'"� VC-4-4c #'�1�	 /Q�� -��% 

 7� H*�a"�75 168 
. �1� 4–
10 × 4.  

(3)   �D!� ��
��� �P�C 4��.��(ESR) 
�+�� H��� +] 8i, s�Q�� 3a��� 
�1� |��� �YF �i1��� H*��E 6� #�� 
 �
, #'��MBit/s 160 .PY	 ��C����� \��]; �BC� +] �P%��� z�PD� 8V��C���� �D!� (ES).  

(4)   x�F #P% �''��� �'ZC�� �P�Y���1996 �P�C |��� 4�. *�<	 � �DE :�.u� ��a"!� H*�a��4–
10 × 3.  

 79� 
�1� |��~ �"����� ��'%��� 
��?
1��� 
�+��� #'�1�� ��B�DV�l"F� 
�1� |��~ #'�� |�T*� �'ZC� ��?
1�� fQ.  .
��%
1��� ������ �,������ �DP���� 4�5 6� 4�5 7� 4��.;� pF� 6� ������� 4��.;� QaY�� �'ZC;� fQ. p'�� �� @A� .

 |��v� � �F}
�� 4��.;� :�a�1T� 7'M	 �� 8VPY	 �8t�
W��� �D!� 3	}
� \��1,� l"F�1��?
1�� 7�  ITU-T G.826 
�i,��.� z<h1T �,����� 3�� �� ���a���� 
�1P�� |��� �'ZC; �P�Y���.  

5.1  ,��� 1�H$! 93 ?�B CD ?�B �� ?��@6� I�J�+  

 3	}
1�� ���P� |�'�1T�� 8�K�� 8J��1,� 8'%* +�� �������� ��Y5
�� :�uK;� [� 4�5 6� 4�5 7� :��;� 4��.� �}
�
 �i"��a� �*�
�� ��� ��?
1ITU-T G.828)  #9W�� �ZC�1(.  
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 #9W��1  

��$�� �A���7� K�* ,�� 

  
IG:  ����� �����  

PEP:  	
�� �
� ����  

 ������1 ���� ����� ���� ����� ���� !������� ������� �"# $%&"� 	
�� '( )�*&#� �+, .  

 ������2 � -&���� -&���� �( ����� ����� ��/��� �0��� ��1 '( 234 )6
7� �( 89�0�.(  
 ������3 �<
&=>� ��?�&�� @AB C  D0�� ���/��� '��0��� ��# '( "'��0� �F�G(" ��)H C <GI� �0?���8�)/ 83� J�=K ��L� M�AN� !.  

6.1   �
��J���� L�;#+�����  

uv� � ��"��T Hua% l"F �}
	 ����� :%35 �4�5 6� 4�5 7� 4��.;� 3�� 7� � /�� �"����� 
������ #<C �'ZC� 
 B�DV� ��> 
�1� |����� ��?
1ITU-T G.826H�DV�� ��"�a�� �,���� 7F �ZY�� �V� ���;� |���� U� �� �
, ��� �.  

C�> �q�� ��"����� �"?
�� U Q�Y�k � 5
�� :uv� 7�0�*�% -��	}
� l<"1 f%424�5 6� 4�5 7� 4��.;� 3�� 7� .  

 � H�*�
�� 
��	}
1�� 3� �%�Y1	 ��;� �Q.��� ��?
1ITU-T G.821 �D!� ��C��"� �P�Y��� 
��	}
1�� N"1¡ n�k �(ES) ��C����� 
 �D!� H�	�S(SES) . c
T #��
��� l"F �}
	 ��%2079� ����� :uv� � �D!� ��C���� #K� 7� 4��.;� 7�  ��C���� 3	}
� 

 *��<~ l"F� �
9	 4�5 6� 4�5 7� �D!�0,04 7� 2
"D�� :��;� �
9	 n�o ��"����� �"?
���	�V"� -�`�W�  . �P�Y���
 c
T #��
��� l"F 3	}
1�� �"P	 � ��D!� H�	�S ��
�"�%15 7� 0,002 :�.} /� 0,0003.  

 [���v� � ���5� 6� e�� #��
�"� :��;� 4��.�  �"P	 8�K�� 8J��1,� #�?
� �� 8�K�� 8J��1,� 8'%* +�� :�uK; 7�0
km 27 500.  

 |��v�5  

M8��� 1HN� #$! �� #+
" 1�2! ?��@!  

|����  
(Mbit/s) 

0,064 6� 1,51,5 6� 5 5 < 6� 15 15 < 6� 55 55 < 6� 160160 < 6� 
3 500 

 ��
��� �P�C
�D!�  0,014 0,014 0,0175 0,0262 0,056 zPDY� �  

��
��� �P�C  
�D!� H�	�S  0,0007 0,0007 0,0007 0,0007 0,0007 0,0007 

 �P�C�DE  
��a"!� H*�a��  zPDY� �  4–

10 × 0,7  4–
10 × 0,7  4–

10 × 0,7  4–
10 × 0,7  4–

10 × 0,35  

2��0� -� ���"O
)	
O P(  

Q�RS T0#  
P
U 8�N( 

���/��� '��0���  
) �VHW��3( 

����� ����

$FL
O $X�
&�� 	
O

����  
Y���� 

����  
Y���� 

) �VHW��1( ) �VHW��2( )�VHW��1(

km 27 500

�0�  
�)%&�Z� 

�0�  
�)%&�Z� 
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 |��v�6  
OB��� 1HN� #$! �� #+
" 1�2! ?��@!  

|����  
(Mbit/s) 

0,064 6� 1,51,56�  5 5 < 6� 15 15 < 6� 55 55 < 6� 160160 < 6� 
3 500 

 ��
��� �P�C
�D!�  0,0168 0,0168 0,021 0,0315 0,0672 zPDY� �  

��
��� �P�C  
�D!� H�	�S  0,00084 0,00084 0,00084 0,00084 0,00084 0,00084 

 �DE �P�C  
��a"!� H*�a��  zPDY� �  4–

10 × 0,84  4–
10 × 0,84  4–

10 × 0,84  4–
10 × 0,84  4–

10 × 0,42  

  

 |��v� � H�*�
�� 4��.;� zPDY� Q�Y�k 4�5 6� 4�5 7� �"�?
� �� #��9��� +��� �� #��T ��̂	 �q�4.  

2   ����
 ���	�� !��	"� ��	��� # $%&�(BEP) 


�'"��� �F
'� _1��4��.;��  � �,¢���� �� ��?
1ITU-T G.826�� � �PT�Y� +] 8"��T x�ZC p�' . 6� |
� �� @A�
3	}
�|�'1k�  ���Y% -�M	� �i�"F z"D	 �U%
�� 7� �	
�� �P�Y� -�<,� 
�1P�� � �D!
�1P�� � �D!� |�'1k�  #�A 
£ l"F �

 p'�� 8"��T x�ZC /���?
1�� fQ. 4��.; -�M	� @�{1�	 ��Y<�� �Q� ���{1T�� .Y% 6� /�0	 � #	
h1�� �Q. �� +] ��
��k�.  

1.2  �
&�	���"
"6� 5��	6�   

 �� -���� 4����� 7�:�DE� :�DE;� ��F �T
1� �
9	 n�k �
�<S* #9S l"F ��� ��"����� 
�?
�� _F |�T*�� 
 �Db"� 8���� m�h�� H�aW�� �"b'"� ���� �c�E� #��
F �"� 7'J ��<S* #9�(FEC) . �� 8VPY	 �s�q l"F :�Y��

Y�� Gq
'Y�� 8F��	
�<S��� fQ. ���P5 ��"����� 
�?
�� _F 8'%* :���� mK� . 3	}
� _1�	�Neyman-A -�Kq
� /*���� 
 ���k |�'1k� x�<	 n�k �-�'t�� -���� 
�<S�"� 8t�
W��� ����� #�� �� BY9� -��t��k�k � :�DE;� 7� N ��1� 

P(k)��1�� 
hY�� l"F �:  

∑
∞

=

αα
⋅










α
⋅α=

0

–
–

e
!

e
!

)(

j

j
jkNBEPk NBEP

j

j

k
kP  

n�k:  
  α:  :�DE� �<S* � �D!� 
�1P�� ��F �T
1�  

  BEP:  
�1P�� � �D!� |�'1k�.  

 UC�> �q�NB = N l"F �
9	 �Y��� H*�, � �DE �
K� |�'1k� ��, �
��D�� H*�, � 
�1P�� ��F #�� �.*�P1F� l"F 
��1�� 
hY��:  

α
⋅

α
∞

=

α
⋅

≅






















α
⋅= ∑

BB NBEP

j

j

j
B

NBEP

j
NBEP

P
–

–

0

–

ee !e)0(   ��F �T
1� ��"'��� p�<�� 3�'v

 �D!� 
�1P��α.  
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 �
%� |�'1k� 7F _�	�� H*�a�D!�� PEB �����1�� ��������:  

CRC B

B

BEPN

EB

NBEP

PP
⋅−− α

⋅

e–1=e–1=(0)–1=  

 n�kBEPCRC = BEP/α .�DE ��C�& 7F +P�1�� 79��� PES �����1�� ��������:  

 e–1= EBPn
ESP

⋅−  

 n�kn
�*�a�� ��F 
. /��C����.  

 ��F ���k |�'1k� ��> ���k � �D!� 
�*�a�� 7�  �
'�n 7F _�	 �
�*�a�� 7� Pn,k����1�� �������� :  

( ) kkn
EBn,k EB

PP
kkn

n
P

–

–1
! !)–(

!
=  

�D!� H�	�S ��C�& �
%� |�'1k� �
9	 s�Q��  �PSES ���1�� 
hY�� l"F:  

( )∑ ∑ ∑
=

−

=

−

=

−−
−

−=−==
n

nk

n

k

n

k

kkn
EBknknSES EB

PP
kkn

n
PPP

3.0

13.0

0

13.0

0

,, 1
!!)(

!
11  

  

2.2   ������ ���	
� �
���ITU-T G.826����
� � ���� ����	� ������
� ������
 ��� ��!"
   

 
�'"�� 8"?;� N	��1�� 7� -�%�DC��� ��?
1ITU-T G.826� p�% 2��� ����1�� +���1�� �]��? 79� ESR� SESR 
�BBER:  

N

NESESR =   

N

NSESSESR =   

B

EB

N

N
BBER =   

n�k:  
  NES:  ���1�� U%� � �D!� ��
��� ��F  
  NSES:  ��F �D!� H�	�S ��
��� ����1�� U%�   
  NEB:  � U%� � �D!� 
�*�a�� ��F��D!� H�	�S ��
��� :�Y�1T�� ����1  

  NB:  �D!� H�	�S ��
��� :�Y�T�� ����1�� U%� � 
�*�a�� ��F  
  N:  ���1�� U%� :�Y&� ��
�"� 8"9�� �����.  

 
��'1k�� ��1��� ¤�Y�� ���1�� @	�<� z�PD� 79������1�� p�<�� l"F |
�h"� �<����� +���1�� l"F:  

ESPESR ≅  

SESPSESR ≅  

EBPBBER ≅  
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���� ������ 	
�� 
 ������ ������� �������� ��� ������� �������� !�"# $%�&'( . �)� *++�# ,- /������� 
(
��&�� 01��� 
 2�����, . ����� �&34��� �56� /7�)�( 8����������� 
 9�: $;��<�  ='=> �&&?@ /�+A�B 	C 


�+����� ��D���� 8������� ������� �E��+1 F��� );=&�( 01��� G���( �+���H� I�=�H� J�1( �������:  

a

T

ttP

T
ESR

a

ES∫
=

d)(

  

a

T
ttP

T
SESR

a

SES∫
=

d)(

  

=L M��N�� O�&N��� F��P(�+����� �+����� Q4R /�+"�S� T�="�� 9�: ���A 
 9�S� T=':  

a

T SESR

tP

EB

T

ttP

BBER
a

SES∫ −
−

=
d)(

1

)(1

  

 U+�Ta4�+��� 01( �� .  

 V'W���� ���=� G���( �X��?�� !������ Y'4Z [� 01��� 
 ������� *+��� F��� [?@($�C�4��� 	\] [� BEP/α $�( /F(x) .
 F��� ��'4Z $�' ��+� ^3�#(SES:  

)(d)(d)(
1 /

0
xFxPttP

T

th

a

BEP

ES
T

ES

a

∫∫
α

=  

 U+�BEPth /α4�+�� !_ `��&�� �E1�� a��b' c�� ������ ��+1 $�  .Q4:H� ������� ��� �+�B����� ����<�� Y��&#(.  

d���� �e&�� ��� 	f"&� ,'4�# 8������ [?@ /$�1� F��� O�4\g(:  

)]()([)(d)(
1

1 iii

i

ES
T

ES

a

xFxFxPttP
T a

−≅ +∑∫  

U+� *+��� V+�h��� ,�i xi =&� BEP/α 0> BEPth /α.  

Y+�e��( O�D] j�=�] �� �+
��ITU-T G.826 ���'W���� [� D(=k !_ G�D=� =l m] [?@ �+�C�4��� BEP/α /F(x) . /7�5(
 J�&�� m�?' m] n4�"'F(x) 	?<�� 
 TD����� T��f�� 2 . [� !����� [?@ oA] ����� �=-(F(x) 01��� [� �'�X� ���&C 

 o+� W(�h�# � p)��BEP/α�  ��+��x ]4�# m] $%�&' 7�)�( F(x) 	?<�� 
 $��H� ��q� *+�� G��?� �������� ��� 2.  
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 	?<��2  
�	
��� 
	��� �����  

1062-02

D

  
  

 4�+��� `=� ����� 	����� 01��� D=iTth ��+���� 0,933 = PSES . r��# ���&� G������ ��+��� s)� 	���#(0,5U+t  4<� I=> 
 T='=L um��B9�S�8���� 	?<� .  

 	?<�� [�v�'3 *+1 BEPth /α 8(=w� 
 G�v'] *+��� s)� D4#( /�"��x ���� ��=�y Y���' ��+� ������� 7.  

  

������� �	
�� 
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 	?<��3  

PSES ����� BEP/α  

1062-03

E D

2 5 2 52 5

  
  

 8(=w�7  

�	���� ���� 

(Mbit/s)  BEPth /α 

0,064 

3–
10 × 3 

1,544 

5–
10 × 9,00 

2,048 

4–
10 × 1,90 

6,432 

4–
10 × 1,17 

51,84 

5–
10 × 5,68 

155,52 

5–
10 × 1,89 

  

 �
��

��
�

S
E
S
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 =&���+�:� ��+��� BEPth /α  Vvz ���D��� m] {| s���A�� /7�5 V� /$%�&' /��&1H� =+��# 	\] [� S =&� [��}��� T���
�&+�� ����  ��+���BEP~4�# /+���� �&� j ��BEPmod . {| G�D�&���( ��+1 ���# /Y�� ��BEPth /α  �������� ,- c�� 

�+����� �%+f���:  
BEPth / α = − min (BEPth / α of Table 7; BEPmod / α)  

  

 ��+��� 	?<# /G�+��� ������� ���D��� *��� {| ���&���3−
10 × 1 ��+��� G�=+\ G�����# BEPmod.  

��C)�� ��'4��� pD��� ��&1H� [� D(=k !_ D=� =+��# {| s��] T 
���# c�� 
 TD����� O�DH� j�=�]���+
��  
ITU-T G.826 .d�����(/ ���&�� ='=>( ��� J�&1 �'4��� �+����� �+����� 	����# C( D( E( F J�&��� )4�A� 	?<�� 2.(  

����� 1 �   =&� J�&��� *+1 0+�N#%100( %10( %2( %0,2��� [�  01) ���&��C( D( E( F.(  

����� 2 �   ��+��� ='=>BEPth/α.  

����� 3 �   01��� ��+1 ��+�:�Y�����/4�+��� `=� �����  (Tth
 

< 0,2%) Tth.  

����� 4 �   ����&�� �� *+���� 2: n�4���B( C.  

����� 5 �   ,�&�� F���ESR( SESR( BBER 8��� 	:�D ��D 8�: [� V1������  0,9 Tth (%100) 4�A� 
 ������1.(  

������ 1 � ������� 	
 ������
� ������� ������� � ITU-R S.579 ������� ��� ��� ���� ���� ! "�� ��#�$!� %&�' (��)* %+' "�� �
 ,-.�
�"��#�$!� 0+�1 ���' ,2�� " �+��1%10�.��3� 45& 6�78 ,9* :2  . �2� < �5=&�%10 �-�7�� :2 Tth �����> ������ ��� � 

 �-�7�� ���? @�=' "�� A!�B�BEP �-�7�� :2 *�
* BEPth :2 ,�* � ��.C� 	
 ��.' :=�� 10D@��E .  

����� 6 �  ��+�:� 01��� T='=\ ��+1 Tth ��4?#( �#��S� 4 (5 ,�&�� *+1 ���] Y�e�# m] {| ESR( SESR 
(BBER pH Tth [� 4%
] %0,201��� [� .  

5| 0+����� �H� ,�&�� ��� ����&�� j�=�ESR( SESR( BBER  ��(=w� 
 TD�����5( 6  	?� Y���' ��+�%0,2 > Tth 
 ���&��� D=q� J�&��� m] a��' /01��� [�C( D( E( F $"' ������y�+
���� �+��P�  . �+����� [��# /7�5 {| ���3|
�# ���&� ��
��� 4�+# `=� m] s��] T��C)�� [� 	%0,2Y�> =1 01��� [� .  

 	��4��� T�4?��� �+����� �h+�&C(4( 5( 6 ����&�� �� *+���� 2: 	C $"+� /B( C U+� /B V�' m] [?@ 
 p] 
 �� m�?�%0( %0,2�+
���� j�=�9� /01��� [�  �+��P� 4�+��� `=� j�=�]( . J�&��� `���� 	?<�� 2+��# [?@ �)?�(

�&��� ='=� Y'4Z [� JG�+�]� ���&�� [� G�1��A� C 	?<�� 7�5 ^3�' ��C 4.  
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 	?<��4  

���� �	
�  

1062-04

  
  

�+����� ��3�4���� ���36�( s��] ���
��� �+����� 8�������:  
�   *+���BEP/α ������� ����&�� E( F/�������   
�   *+���BEP/α ������� ����&�� E( D� ���z /T4<�  

 	?<�� 
 ��&1H� s)� ^3�#( 8����� �"��x ���� ��=�� 	\] [� ��&1H� [� ����� =+��# � /8�N�C5.  
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 	?<��5  

����	��� ������� ����!� ��
�"�  

  
  

  m] n4��� /��&1H� s)� 4'��# 	\] [�3−
10 × 1 = BEPmod .�+� /7�5 {| ���3| 8=�� p5 J�&���� Y���' �Mbit/s 1,5 /

�� ���&�� m6�  *+���BEP/α ������� ����&�� E( D [� �!%# =1 10 {| 3*��&� J�&1 ��� 8�fe�� .  

3  ���� ���� 	�
�� �
���� � ���� 	�
� �� ���
��  

j(4��� [�G����  c�� �+�#���� ��
��� ��� ������ O��:H� m] 	����#�x  �����$���H� ^+ef�9����  (FEC) 
2+����� ���A](=<P� ]=�� [� �EB(=� 
 F4��#  . I�=�9� G�v'] �E�+��# [?@ c�� D�<P� s)� ��E� m](9�S�/ �� 

m����� V'W�# V��'( $;��<� ��E� .m|( p)�� 8=��� �"A �� 7�5 [� �#�&�� ���="�� 
 9�S� 8=�� Y���' I(=� 

 �+;��<� O��:] ������ )m����� V'W��� G���( ��W�� ( ������ 
 O��:H� [� 8=�� V�BER/α U+� /α)  
 `=�����

T4�"�� 1.2���L� ��� O��:H� I(=� T���4� 	\] [�  ( ������ D=� 2���� ��9�S� 	N@ ��C /=<P� 
 α �� ���&�� 
 I(=� 8=��( ������ 
 9�S� 8=��9�S�.  

�1��#(g� �;�fS�  O��:H� D�<P �+;�f� ��� ^+ef��� 2�xFEC/	������ 2+����� . ��+��� 0�=���� =1(
 ^+ef��� ����x ����� F���P� ������ ����+���( T�C�q�FEC) $�3�"# !"<# (] 2+�z m(D ( ='=> 	\] [�

 	�����α . 8(=w� 
 �;��&�� s)� �D=�(8.  

�
��� ����� �� ������ ������ 
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 8(=w�8  

##$ �%& '� (�)� ��	��� �	*#+�� ,�	�"� -�./��� ����$ (FEC)  

 -�./� 0�FEC �	�� ����  
(Mbit/s)   -�./� 12��FEC 

1/2 3/4 7/8 

1,544 1,0 2,7 5,1 6,6 

2,048 1,0 3,4 6,8 8,2 

6,312 1,0 2,6 5,1 7,0 

51,84 1,0 2,8 5,4 7,2 

155,52 1,0 2,8 4,9 7,2 

  

[� a���� 
 �+�1� �����| ����+1 �D] 2�&�� INTELSAT IDR) 3/4 = R FEC2+����� G�=;�W  ( ��+1 {|α = 10 [� 
 8=�� 	\]BER �� �(�4�' 4−

10 × 1( 11−
10 × 1 . ��+1 �D=>(α = 5 �����| 	\] [� �E�"A ����+��� O�&B] 
 

 2�&�� [� �+�1�INTELSAT IBS) 1/2 = R FEC2+����� G�=;�W .(  

 8(=w� [� 4E�'(8 �;��A [�(  m] ��+���α  =1 �� V�#1( 10�+&��� ���P� 
  . [� Q4:] ���] G���� ��=# m] ,-(
 ^+ef��� ����xFEC/2+����� . ������ !B9# �=�' m] [?@(αd���� �e&�� ��� O�DH� �5�� ��� .  

 ��?<�� 
 ��=��� ��&1H� =+��# �2( 3 V� α = 10 .N�� 	+�� ��� `=���' � �56� ^+ef# O�4\| p] 8�FEC/2+�z(  
(1 = α) {| ��f' /"��}�W" m�?#( T4<� �=�� �5��&�� �������� 8=��� ��� �3(4"�� BER ���4
 4NC] ) ���� V�

T4<�.(  

4 �
�
������  

���h���� ������� ��&1H� m] �����=�� �;��A �4E�] �+��P� �+
���� 
 TD=q� j�=��� T=����� [� �����+
  
ITU-T G.8268���g� 8=�y Y���#  . V'W��� G�v'] �5��&�� Y���#(9�S� ^+ef��� 2��y s�(=� 4B9�' p)�� FEC/ 2+�����

Y����.  

�� ������ O��:H� O�D] ��&1] ������ =&� ��=S� ������� ������� 
 ):�# m] G�v'] $%�&'(.  

  

����������  
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